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PewinTe HepaBeHCTBO
7+2(x-4)>x+4.

vvvvvvvvvvvvvvvvvvvvvvvv




5—3x 2> -1,

Pemmnte cucTeMy HepaBeHCTB -
@—4x28.

5-3x2-1 3—4x28

Ot1Ber: x € (-o0; -1,25]



PewwuTe ypaBHeHue ; \M




:,AA‘qaCTbAZAAr‘ ,
.;.Mozlyﬂb «A.Hreﬁpa» %










PemnTeypaBHeHne \rm

3,9 It B= r+5,r+86




EEmmmEn Uy =12, HHHHHHA
EEEEEE 2 +xy+y¥ =8,




f‘lﬂ‘h) EEEEEEEEEEE




Pewwre CcHUTeMy YpaBHeHM
¥y drw 6,
X —xy 4yt =12,

‘ml.l 114r|.!

(:,"Il 7u| g -

( 2 2 )

- Buimonmure ymMmOXeHHe: | — - 3x - ¥, 3y

Y

Coxparire apodin =




' CMACUBO 3A
;isnmmanueu!




